Total No. of Printed Pages—8

1 SEM FYUGP MINSTS1

2024
( December )

STATISTICS
( Minor )

Paper : MINSTS1
( Basic Statistical Methods )

Full Marks : 50 (60 for 2023 Batch)
Time : 2 hours (3 hours for 2023 Batch)

The Jigures in the margin indicate full marks
for the questions

1. oo© o RIFRRT 91 0+ SeIh! IR 391 - 1x6=6

Choose the correct answer from the following
alternatives :

(@) <51 SWEY gEN FRGETH TAAB GHe
PRI =

A subgroup of the population that is to
be studied is called

(i) dforf
sample

(i) ©2q
data
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(2)

(iti) effors
statistic

(iv) S°RT IOIRCF20!
All of the above

(B) <51 35 S To GF

The second quartile of a distribution is
same as the ‘

() fROR I
2nd decile
(i) S
median T
(i) 25 ©F TR
' 25th percentile
(iv) 75 OF *OR*P
75th percentile

(© MM B, >3 W, (SERTE ITAGR® T =

If B, >3, then the distribution is said to
be

() @O
leptokertic
() RIS
mesokertic
(iii) A0
platykertic
(iv) TR
symmetric
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(3)

(d) FPAGIETR @5 ST @RS IS T 2

(e)

1,
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The maximum value of Spearman’s rank
correlation coefficient is

() O
(i) +1
(i) =1

(i) +3

SRR SRS WOl by € by RCE, TITIR
BIRP 7]

If the regression coefficients are b; and
b,, then the correlation coefficient is

() b /b,
(@ by /b
(i) byb,
(iv) +.bb, ,
P RERISFIA R0 o< FRIAR O GHHD!
s Tify e 2

The condition for the time reversal test
to hold good with usual notation is

(@) Foy /P =1
() Fo1+HRo =1
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2. oo firgy AITRT e Tey figy - 2x6=12
Answer the following questions in brief :

(@) CTRIR e @ e FRITO ©AF [ero
N oy |

D_iffergntiate between qualitative ' and
qQuantitative data with examples.

(b) T I @ W VYT 2/ Y. TR
ST Q@NIF Xy |

Proye that algebraic sum of the
deyxations of a set of values from
arithmetic mean is zero.

(©) @b e Reseiam qom SFEPTR R |
What are the characteristics for an ideal
measures of dispersion?

(d) T=TTF BNHY Wi Sferey |

Derive the limits of correlation
coefficient.

(6) I AeMeF PN WEET @l TOE R
8x+2y=26 WF 6x+y=31 rgd TN
Sferes |
Two random variables have the

regression  lines 3x+2y=26 and
6x+y=31. Find Ty

() o e, SR Wﬁﬁw RIS
AR e o |

Define price relatives, quantity relatives
and value relatives.
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8. (@) AR S c@iesd wIF SR IR
6 3912 ISsTR! ifeer Borgieie e e R
G JRAT 91 2 G2 ERPIRS e oy
SCEM P HIF @2 GRERT IRA T
SRR TS e FCen=l 4 |

2+2+4+4=12

What do you mean by classification and
tabulation of statistical data? What are
the graphs that are used for presenting a
frequency distribution? Discuss each of

them briefly. Also, discuss briefly the
advantages and disadvantages of these

graphs.
$41 / Or

(b) AR SRR RE [feq Pz & 752
T THIRITPIR 2ACORRCT RACA L IR0 5411 |

, 3+9=12
What are the different types of
measuring scale to measure statistical

data? Explain briefly each of them with
suitable example.

4. o° fEGERS [l & e 16 2pF e fran:
10x2=20
Answer any two questions from the
following :

(@ IDT GBR GEE 2=I0 FRa B ogw, w0
91 | (I 2T AR Seas 90 | 951 e
@I TSl Y7F AR AN @PER & 2
4, SO S IS NG F2RCG] R S
AP (TR ¥ BIER I 5P A
=11 2+2+2+1+3=10
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Explain what you mean by central
tendency of a distribution. Mention the
measures of central tendency. What are
the properties of an ideal measure of
central tendency? Write the relation
between mean, median and mode.
Discuss briefly the merits and demerits
of them.

(b) b1 B ResAm W @R B [
RSP Ree Smx 911 9%
Roer =% WA Rverm wrem T SAIFPRR
IR | @Sl @ ¥ R He i #R5ow

TS I /5T eors | |

What are the characteristics for an ideal
measure of dispersion? Write the names
of different measures of dispersion.
Explain the main difference between
mean deviation and standard deviation.
Show that standard deviation is
independent of change of origin and
scales

(¢) CIR T I AN AR ol | & el
CFR WY FRFS 2P 337 | ©of© Seay 1
IR IBT ~[ 2139 ARG 7= el
RE® 243, fASF SF $oR EE Wyl T
Tfereq : 4+3+3=10
Define raw and central moments.
Express central moments in terms of
raw moments. Find the first, second and
third central moments from the following
values of first three raw moments
obtained from a frequency distribution :

mi=-0-22 uj5 =1-34, u3 =-0-58

10
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( Additional 10 marks for 2023 Batch )

5. meﬁ@m@m%@ﬁm:

5x2=10

Answer any two questions from the
following;

(@) I P e @IeT RSl R

(b)

P25/477

(RS @ IR QNP ERY A€ A9
ARG e | G 124355

Define Karl Pearson’s coefficient of
correlation. Show ‘that correlation
coefficient is independent of change of

origin and scale.

I R R s e O ) UG E) OO oS S e
CFao (S @ 2+3=5

2 ~N3723
\/(1 —113)% (1~ 733)°

2.3 =

Define partial correlation coefficient. For
a trivariate distribution, show that

1 e g —N37a3
12ic8= 5 5
\/(1—T13) (L —753)
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(@)

L

(8)

GBI SR PG T Pen I 2AOo!
JRI FA | y=a+bx+cx? fBge SfSISCUI

8B () Sl e v b o e NI =) L .
3+2=

Explain the method of least squares for
fitting of a straight line. Write the normal
equations for fitting of the second degree
parabola y = a + bx + cx2.

PRI I S @mo e S R
IS Ted (R A SPIRYPAR 82 R
<P 1 1+4=5

What is index number? What are the
major problems involved in the
construction of index number? Explain.

* %k 4k
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